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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

+ 2. Attempt all questions.
3. All questions carry equal marks.

4. Use of Simple calculator is permitted.

1. (a) Critically'evaluate-the ‘Payback period’ method of evaluation of long-term projects.

QU IRATIST @ qsT @ Ve gEfy’ By @ e ST Sk

(b) Stadle Ltd. is presently having a manually operated machine which was purchased ten
years ago. It has a book value of Rs. 1,00,000 and remaining life of ten years. The
company is considering replacing the old machine with a fully automated machine at a
cost of Rs. 2,60,000. It is expected to have a ten-year life and a salvage value of Rs.
20,000. The new machine is estimated to lead to a cost saving of Rs. 60,000 per year.
The company has been offered Rs. 80,000 for the old machine, if it is sold now. The tax
rate for the company is 40%. Straight line method of depreciation is used. The company

expects a minimum return of 12% per annum on its investments. Should the machine be

replaced? (5,10)
P.T.O.



261 2

(@) Rew Rfids & U@ a0 & B9 A To 9l v A 2 @ o8 el Uee @ael T an gEen

% 3 € 1,00,000 3N T G H AT AT Bl FEN ER FAT B QA W A Tdiond T

W AR o @ 2, PR @EE © 2,60,000 QAN IHD TH G @ WA SR 20,000

3&%%@@3&3@6%1#?@?% 60,000 T Wie af = AFE q=H B H FATAA

21 & B g w @ T 80,000 TR & VIERW WY T B, IR W 3T S WA 21 S

@ foIw & & W 40% B [ H WE e TSId o STANT TRAT ST 21w A9
R w = 12% 9 af @ Rt 9 SR 31 = w9 @ Seen WiEr e’

OR

Jan

(a) Why is consideration of time important in financial decision making?
fa<ia fvir A= A ' w1 foeR A et B 7

(b) A company is considering the purchase of a machine costing Rs.5,00,000 with a life of
5 years, after which it can be sold for Rs. 1,00,000. It will require an initial investment
of Rs.20,000 in working capital. Additional working capital of Rs 20,000 will also be
required at the end of the first year. Tax rate for the company is 40 % and it uses
straight line method of depreciation. Its cost of capital is 12%. Advise the company about
the profitability of the project using NPV method. The expected profits before depreciation
and tax are as follows:

Year 1 - 2 3 4 5

PBDT (Rs.) 1,50,000 2,00,000 2,00,000 1,50,000 1,00,000

(510},

UF HUAl 5 9% & WiET @ @Y 5,00,000 T F ARG den A @det | AR wR @ 2,
e @1e 3@ 1,00,000 TR A I W GFA 21 @D 0 FEWA GO F 20,000 T B IEIAN
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(i) 7o A @ e e,

(ii) v A B oy Bela o - e g,

(i) EBIT & fha ¥R W &N 3 A diowish ¥ ¥ e 907 o 2, @08 aR ¥ e

B

Plan A

Plan B

Bonds

Rs.80,000 at 9%

Rs.1,50,000 at 10%

10% Preference stock

4,000 shares of Rs 60 each

2,000 shares of Rs 70 each

Common stocks

20,000 shares

23,000 shares

OR

(a) Investment, financing and dividend decisions are interrelated. Comment.

i, e s e R w2 qw ¥ R AR

(b) There are two firms which are identical in all respects except in terms of their capital

structure as can be observed from the details given below:

Particulars Levered company (L Ltd.) | Unlevered company (U Ltd.)
EBIT Rs. 1,00,000 Rs. 1,00,000

Debt @ 10% Rs.S,OO,OOOI -

Equity capitalization rate(Ke) | 16 % 12.5 %




261

5

Calculate the value of the two firms and explain how an arbitrage process would be
initiated according to MM Approach of capital structure. When will this process stop?

(5,10)

%ﬁ%ﬁaﬁﬁmﬁmwmﬁﬁwﬁﬁm%ﬁﬁﬁqwﬁﬂw%%m

EICE

Particulars Levered company (L Ltd.) |Unlevered company (U Ltd.)
EBIT Rs. 1,00,000 Rs. 1,00,000

Debt @ 10% Rs.5,00,000 -

Equity capitalization rate(Ke) | 16 % 12.5 %

A T D A H A Y R TR T e @ v gl & SiER HeerE it
HA TE A TGN TE FREN HE wha

(a) What are the principal motives for holding cash?

THS TN B qET T M B7

(b) The cost sheet of a company provides you the following estimated cost per unit :

Cost Elements Amount per unit (Rs.)
Raw material 10

Direct labour 4

Overheads 6

Total cost 20

P T.0.
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Additional information:

Selling price Rs. 25 per unit

Level of activity 1.56,000 u.nits per annum
Raw material in stock Average 4 weeks

Work in progress Average 2 weeks
Finished goods in stock Average 4 weeks

Credit allowed by suppliers Average 4 weeks

Credit allowed to debtors Average 8 weeks

Lag in payment of wages Average 2 weeks

Casﬁ at bank isr expected to be Rs.50,000

Production is carried out cvenly throughout the year (52 weeks) and wages and overheads
accrue similarly. 25% of sales are on cash basis. You are required to prepare a statement

of working capital requirement. (5,10)

wﬁﬁaﬁmaﬁawﬁnﬁgﬁtﬁmﬁﬁqﬂmﬁammw%

Cost Elements ‘ Amount per unit (Rs.)
Raw material 10

Direct labour 4

Overheads 6

Total cost 20

sfaRea =g
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Selling price Rs. 25 per unit

Level of activity 1,56,000 units per annum
Raw material in stock Average 4 weeks

Work in progress Average 2 weeks
Finished goods in stock Average 4 week-s

Credit allqwed by suppliers ; Average 4 weeks

Credit allowed to debtors Average 8 weeks

Lag in payment of wages Average 2 weeks

Cash at bank is expected to be Rs.50,000

W@ﬁ(szm)wm%ﬁmm%aﬂtm@aﬁzmmm% a2 2
zs%ﬁﬁmwﬂﬂmﬁﬁ%xmmq@aﬁwmmﬁmaﬁNM|

OR

Write short notes on the following:
(i) Operating cycle
(i) ABC system of inventory management

(iii) Permanent and Temporary working capital (5,-5,5)

BEG.
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It is estimated that the sales can be increased by 15%, if the company increases the credit
period to 2 months. But this change in credit policy will increase the bad debts to 3%.
Advise the company whether the proposed credit policy should be implemented given that

it’s minimum required rate of return is 20%. (35,10)

@, 3. v ffids 30,00,000 T i AT Ao aftw W ¥ 9fe wow S 21 SEE W= A
& 300 ¥ Wi gfe B SR aRadT AnE 200 TR W afe 31 fitew @ne 9R a9 3,00,000
T Bl FUT WEH F A AT AR T BRe FA T WEX A 31w A R w1 1% I
B @ R

7E S e T 2 R AR wE AR s w2 WA W w91 3@ T A R A 15% A
q%ﬁwﬁl%ﬁﬁm%@zﬁ@@iwwmm’raﬁ%wamhnﬂﬁm
AR o F were #fe AT B anp B wwn wily, 7 3o 5w B Ret @ maw srawew
|/ 20% R

(a) Why is debt the cheapest source of finance for a profit-making company? Can a firm 20

for 100% debt financing?

T T AR T B R A g R @ ww w A w27 aw aE w 100%
w0 e w5 e 99 g 27

(b) As per MM approach the payment of dividend does not affect the value of the firm. Use

the data given below to prove this statement.

Number of outstanding shares 25,000
Earnings per share Rs.10
Ke 10%
P/E ratio 10
Expected dividend per share Rs.5

New Investments Rs.5,00,000 (5,10)
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T GREHIV & FTAR WA ST B D Ao B WG T BT B 56 S o e
T @ R AR Re st = w@m ikvm

TR I AW wEn 25,000

Wi TR I : Rs. 10

ol } 10%

T/ Fae 10

Wi IR smfeE s RS, 5

qQ fam Rs.5,00,000
OR
CRC

(a) What is ‘informational content’ of dividend payment?
WA A & FEAE A S B 27

(b) ABC ltd has the following book value capital structure

Rs. in lakhs
Equity capital (in shares of Rs 10 each fully paid up at par) 20
Retained earnings 10

12% preference capital (in shares Rs 100 each fully paid up at par) 5
10% debentures (of Rs 100 each) 10

11% term loan 5

PO
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The next expected dividend on shares is Rs 3 per share and is expected to grow at the
rate of 6%. The market price per share is Rs 30. Preference stock redeemable after 10
years is currently selling at Rs 75 per share. Debentures redeemable after 6 years are
selling at Rs. 80 per debenture. ﬂwome tax rate for the company is 40%. Compute the
weighted average cost of capital using market value proportions. (5,10)

i R & ww R IF 3 T IR s )

wE € A
A T (10 T @ TN ¥ W@ W W @ A WEH @) 20
yiauiRa A 10
12% BT TR (390 ¥ 100 TR TEE W WE F T W PR By @) 5
10% R¥=R (v 100 TR w) 10
11% dmafer == : 5

I W IS SRR AT 3 09 W I B R 6% W W A we I SHIT B AR AW AR
I 30 T B 10 O 9% REW @ ang e wis ofwm ¥ 75 T aR e ¥ R @ R
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(10,000)
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4 (a) How is optimum dividend policy determined under Walter’s model?

m%wﬁa%mwmﬁiﬁﬁﬁsﬁﬁaaﬁm%?

(b) Following information 1s given to you about ABN Ltd.

Sales Rs. 10,00,000
Variable cost Rs. 7,00,000
Fixed cost Rs. 2,00,000.
Capital structure:

Equity shares of Rs.10 each Rs.10,00,000
7% Debt Rs.5,00,000.
9% Preference shares Rs.2,00,000
Tax rate 25%

Calculate the operating, financial and combined leverages.

By what percent should the sales increase, if the firm wants to double its earnings before
interest and tax (EBIT)?

(5,10)



